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2 TDC BUSSTS (G/S)
2009

BUSINESS STATISTICS
(General / Spec1a]1ty)

Full Marks : 70
- Pass Marks 28

Time : Three houn S

The figures in the margin indicate jull marks

(a)

(b)

3

for the questions..

aﬁwmmﬂa Qfﬁ?ﬁ@in PG v/rm?r
.WWWI " T 5

Mentlon at least ﬁve charactenstlcs of a goodl
measure of dlSpCl’SlOl’l

'Wﬁmwwwmwmqﬁﬁw':

Calculate Mean and Valldnce hom the
following. data :

X:10-19 20-29 30-39-40-49 5059 60-69 70-79 .
. f:

61 223 137 33 19 4
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. ) Wé/?‘f‘/oir
(c) memwmmﬁﬁawaﬁmm

7= 5
“From the tollowmg data ﬁnd the value of X,
if AM.is 17.-
i iy
L § 20 26 29
Age : S o “

<R A

“No. of pel S0MS

(d) %ﬁﬁ @@ﬂ SO ol PCNG DT

PR REE S 9 T a9
ﬂ\WWWﬁﬁWWWS\;

4 4=9

Discuss any Jfive essentlal qualmes of an ideal
measure of ‘central tendency and state the
advantages of sample survey of collectm@
. data. :

2. (a) mam%éw@n@ﬁm@?

What is regression line 7 Why there arc two
lines of regression?
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(b) Tﬁmmmwwﬁmwwwmﬁ

( C)

(d)

> a1 - D 9

Calculate Karl Pearson s coefficient of
corre]atlon from the data. onven below :

X:.39 65 62 90 82 75 25°98 36 78
Y: 4753588667686091 51 84 -

W"/?T/Or '

W@cn\asiiﬁmﬁsi@rﬂmﬁﬁm%?
T Y 4415

What is: coefﬁcnent of correlatlon ? What is

its range ?

mmwmwmmwﬁwq@fﬁcﬁ

SR, . 9

| From the followmg d'ltd obt'un ‘the two

regression_equations :

X: 6 210 2§
Y. 9 11 5 8 7

nWQﬁﬁWWﬁﬂNWWW

Wxﬂ%ﬁWWﬂWl s
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(b)

Mention five different usés of Index Number

in the study of Economic$ and Commerce.

BRI T T el w101

Calculate price indices for the year 1993,
from the following using ('1') Laspeyre’s -
method and (ii) Fisher’s Method.

owre frml SRER AT 1993 5 FIRC
(i) SURTARIT 2elem o (ii) frmi s 5as
5+4=9

' .- 1990 . 1993
Commodity ' ‘
g Price | Quantity | Price | Quantity
| W e | e | AR
A 6 | 50 10 56
B 2 100 | 2 120
C 4. | 60 6. . 60
D 10 30 12 24
5%t / Or”

(c) T e o Sited Jpaics (T W2 s
" Why Fisher Index Number is called Ideal

Index ?
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(d) I JIRT e vfﬁsnvf HIRPE ST ALy

| mwm\wm—w%‘ww
L SER PR 44529

-Dlstmounsh between Price and Quantity
Index number’s. Also :mention five
" limitations of Index Numbe1

4 (@) TSR PRIRE TS F SURER Ao
' oS! ety =1 ;. 5

Using the least square pnncxple fmd the trend
values from the followmo data :

Ve R 1990 1991 1992 1993 1994 1995 1996
Year : ‘ ,
et : 83»661 s 9l 7? 3 3
. Production : ARG 23

(b} JIETCHAT ToNHARET P 301 e
Resmaw RS} m c’m e w5 i
fovar | , O 742=9
Explain the components of a time series.
Write down any two models used for time
series analysis. :
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@
“Sales (in lakhs) :~‘

Wa,%r/.or B

(c) mewﬁﬁaﬁmm 51 2RI 2Tl
Cfefmw: B 5
Find the trend values by 3- -yearly movmg
average method from' the following data :
W -

Year - 1990 1991 1992 1993 1994 1995 1996 1997 1998

(d) b‘:{cﬁwm (ﬁsz%ﬁﬁra) 3$<3=9

‘Write short notes on : (any three)
(i) R S{chﬁ
Trend ‘
! i) a::;;ﬁvéwﬁaﬂ

Seasonal ﬂuctuatlons ’

(iii) iﬂ?‘ﬂ@f’\@ﬁ

Cycllcal ﬂuctudtlons

(iv) WW@E—T

Irl‘egillaf'~f'lu¢tuatibn§:’ I \
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5 (a) WNW?T@TWWH‘@W
@%WWWn . 243=5

State the Addltlve and Multnphcatlve Laws
of Probability.

(b) =SB R O] *iaes RACH SIeTo]
EaUl ‘ o - 3x’5—9

Discuss any three methods of forecasting.
w3 / Or

(C)WWWWWW?I
M , 5

State ﬁve objectives of BusinesSForecasting. <

(d) ﬁﬁmww&mmﬁmaﬁw

AL . © 445=9
__Explain Sales forecasting and Demdnd ,
. forecasting. ' S .
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